Q.1. Choose the right answer from the four alternatives given below.
(i) The Tropic of Cancer does not pass through
(a) Rajasthan (b) Odisha (c) Chhattisgarh (d) Tripura
Ans. (b) Odisha
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(c) Andaman and Nicobar
Ans. (b) Lakshadweep
(v) My friend hails from a country which does not share land b°“ndary b

India. Identify the country.
(a) Bhutan (b) Tajikistan (c) Bangladesh (d) Nepal

Ans. (b) Tajikistan

Q.2. Answer the following questions briefly.
(i) Name the group of islands lying in the Arabian Sea.

Ans. Lakshadweep, Islands lie in the Arabian Sea.

(if) Name the countries which are larger than India.
Ans. The names and areas of countries larger than India (in size) are given below -

. Country I Area in sq. km.
' 1. Russia { 17.09
| 2. Canada ! 9.98
| 3.UsA ] 9 83
| 4. China ] 9.60
/;5. Brazil ) 851
6. Australia I 7.69
| Vibda . e

(iii) Which island group of India lies to its south-east £
Ans. Andaman and Nicobar islands lie to the south-east of India

(iv) Which island countri
€s are ou -
Ans. Sri Lanka and Maldives. e b
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The central location of India at the head of the Ind
i :
of great significance. Why ? ¢ ndlan Ocean is considered

The Indian landmass 'has a Central. location between the East and the West Asia. India
is a southward extension of the Asian continent. The trans Indian Ocean routes, which
connect the countries of Europe in the West and the countri
a strategic central location to India. The Deccan Peninsula protrudes into the Indian
Ocean, thus helping India to establish close contact with West Asia, Africa and Europe
from the western coast and with Southeast and East Asia from the eastern coast. No
other country has a long coastline on the Indian Ocean as India has and indeed, it is

India’s eminent position in the Indian Ocean, which justifies the naming of an Ocean
after it.
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